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00 Little Quit0000O0O000O (1),(2),(3)000000000000a, b, turn, sew
00000000000000000 Little Quit 0000000 (let0Oval OO0 fun
00)00000000000000000

e a bUU 1, 0200000000
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e turn (e) : D00 ed 00D OODOODOODOOO

o sew (e, €2) : 00000000 e,e,0000000000000000000
(00 ;000 e)0

(1) sew (turn (turn (b)), a)

(2) let
val x = turn (b)
in
sew (x,x)
end

(3) let

fun unturn (x) = turn (turn (turn (x)))

fun pile (x,y) = unturn (sew (turn (y), turn (x)))

val aa = pile (a, turn (turn (a)))

val bb = pile (unturn (b), turn (b))
in

sew (aa, bb)

end

b dbobbboodobbbooodobbbooodobbo
() COOoO0OoUoOooooDooooOoOoOoUooooo

if x>0 then x :=x - 1
else if y>0 theny =y - 1
elsey :=y + 1



(2) 0000000 0OO0OOOOOOOOOOODOOO

x := 10;
sum := 0;
L: sum := sum + Xx;
X :=x - 1;
if x>0 then
goto L

(3) 00000000OO0OOOOOoOoDOooOUooooO

while x>0 do

begin
if x=3 then
begin
X :=x - 1;
continue
end;
y =y +1;
x :=x -1
end

(4) 00000000O0OOODOO0OOO0OOOODOOO

while x>0 do

begin
while y>0 do
begin
if x=3 then
break;
=z + 1;
=y-1
end;
x :=x -1
end

(5) (4000000000000 if0 (if x=3 then break;) 1000000 OOO0O
gbooooogn



00 OO0 Hoare triple(1), (2) 000000000000 0OOOOOO

(1) {a=3}a:=a+1{a=4}

(2) {a=3}a:=a+1l;a:=a+2{a=6}

(3) {a=4}ifa=4thena:=a+2elsea:=a—3 {a=06}

(4) {a =5} whilea>0do a:=a—1{a=0}



O0doooooog
Hoare O O

{P} S {Q} {Q} S {n}
{P} Sy; S, {R}
{P A E}S {Q} {P A -E}S,{Q}
{P} if E then S; else S; {Q}
{P A E} S{P}
(P} while Edo S {P A — E}

{Q[E/z]} = == E {Q} (assignment axiom)

P=P {PYS{Q} Q=Q
{r} s{Q}

(composition rule)

(conditional rule)

(while rule)

(consequence rule)



